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Part  III — Vocational Subjects

(Engineering and Technology Area )

C¯[S C¯¢vµ ÁÀ¾|º /AUTOMECHANIC

( uªÌ ©ØÖ® B[Q» ÁÈ / Tamil & English Version )

Põ» AÍÄ : 2.30 ©o ÷|µ® ] [ ö©õzu ©v¨ö£sPÒ : 90

Time Allowed : 2.30 Hours ] [ Maximum Marks : 90

AÔÄøµPÒ : (1) AøÚzx ÂÚõUPÐ® \›¯õP¨ £vÁõQ EÒÍuõ Gß£uøÚ
\›£õºzxU öPõÒÍÄ®. Aa_¨£vÂÀ SøÓ°¸¨¤ß, AøÓU
PsPõo¨£õÍ›h® EhÚi¯õPz öu›ÂUPÄ®.

(2) }»® AÀ»x P¸¨¦ ø©°øÚ ©mk÷© GÊxÁuØS®
AiU÷PõikÁuØS® £¯ß£kzu ÷Ásk®.  £h[PÒ ÁøµÁuØS
ö£ß]À £¯ß£kzuÄ®.

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

No. of Printed Pages : 7

!1405NPAutomechanic!

£Sv & I / PART - I

SÔ¨¦ : (i) AøÚzx ÂÚõUPÐUS® Âøh GÊxP. 15x1=15

(ii) öPõkUP¨£mkÒÍ ©õØÖ ÂøhPÎÀ ªPÄ® HØ¦øh¯
Âøhø¯z ÷uº¢öukzxU SÔ±mkhß Âøh°øÚ²® ÷\ºzx
GÊuÄ®.

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.

Register Number

£vÄ Gs
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1. G¢u ÁøP iµõßìªåß Aø©¨¤À Gøh \©©õP¨ ¤›UP¨£kQÓx ?

(A) Front Engine Front Wheel Drive

(B) Front Engine Four Wheel Drive

(C) Front Engine Rear Wheel Drive

(D) Rear Engine Rear Wheel Drive

In which type of Transmission System the vehicle weight is equally distributed ?

(a) Front Engine Front Wheel Drive

(b) Front Engine Four Wheel Drive

(c) Front Engine Rear Wheel Drive

(d) Rear Engine Rear Wheel Drive

2. iµõßìªåß •øÓ°À QÍma G¢u ChzvÀ EÒÍx ?

(A) |õßPõ® (B) BÓõ®

(C) •uÀ (D) Cµshõ®

In which place clutch is fixed in the Transmission System ?

(a) Fourth (b) Sixth

(c) First (d) Second

3. GßâÛÀ EØ£zv ö\´¯¨£mh BØÓø» ÁõPÚzvß \UPµzvØS
÷uøÁU÷PØ£ ö\¾zuÄ®, Pmk¨£kzuÄ® £¯ß£k® Aø©¨¤ß ö£¯º
GßÚ ?

(A) ìi¯›[ Aø©¨¦ (B) iµõßìªåß Aø©¨¦

(C) CUÜåß Aø©¨¦ (D) \ìö£ßéß Aø©¨¦

Which system controls and transmits the power from the Engine to the Wheel ?

(a) Steering system (b) Transmission system

(c) Ignition system (d) Suspension system

4. hõ¨ Q¯º ÷µæ÷¯õ Gx ?

(A) 2 : 1 (B) 1 : 4 (C) 1 : 1 (D) 1 : 2

Which is Top Gear Ratio ?

(a) 2 : 1 (b) 1 : 4 (c) 1 : 1 (d) 1 : 2
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5. RÌUPshÁØÔÀ Gx ¦öµõö£À»º åõ¨iß ÁøPø¯a \õº¢ux ?

(A) K¨£ß åõL¨m (B) ÷P® åõL¨m

(C) QÍma åõL¨m (D) Qµõ[U åõL¨m

Which belongs to the types of propeller shaft in the following ?

(a) Open shaft (b) Cam shaft

(c) Clutch shaft (d) Crank shaft

6. ¤÷µU ö£hÀ AÊzxÁøu ÂmhÄhß ¤÷µU åý £øÇ¯ {ø»ø¯ Aøh¯
EuÄÁx Gx ?

(A) ›öÁm (B) ¤÷µU mµ®

(C) L£ÀUµ® ¤ß (D) ì¤›[Qß CÊÂø\
Which is used to bring back the brakeshoe to the previous position during brakepedal

release ?

(a) Rivet (b) Brake  drum

(c) Fulcrum pin (d) Spring force

7. ÁõPÚ® Pµk•µhõÚ £õøuPÎÀ ö\À¾® ÷£õx ÷©¾® RÊ® HÔ
CÓ[SÁøu GÆÁõÖ AøÇUQ÷Óõ® ?

(A) £Äß][ (B) ìQmi[ (C) ¤m][ (D) ÷µõ¼[
What is called the up and down  movement of the vehicle when it is running in damaged

road ?

(a) Bouncing (b) Skidding (c) Pitching (d) Rolling

8. PõØÖ AøhUP¨£hõu öPmi¯õÚ µ¨£º ÷©õÀhm h¯¸US¨ ö£¯º GßÚ ?

(A) PßöÁßéÚÀ h¯º (B) ¦À»m ¦¹L¨ h¯º

(C) i³¨ö»ì h¯º (D) \õ¼m h¯º
What is the name of the moulded tyre in which there is no possibility to fill the Air ?

(a) Conventional Tyre (b) Bullet  Proof Tyre

(c) Tubeless Tyre (d) Solid Tyre

9. ÷P®£º ÷Põn® Gß£x :

(A) 38 •uÀ 48 Áøµ C¸US® (B) 48 •uÀ 58 Áøµ C¸US®

(C) 28 Áøµ C¸US® (D) 28 •uÀ 38 Áøµ C¸US®

Camber Angle is :

(a) 38  to 48 (b) 48  to 58

(c) upto 28 (d) 28  to 38
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10. ÷Áv°¯À BØÓø» ªß BØÓ»õP ©õØÔz u¸® \õuÚ® Gx ?
(A) ªß÷©õmhõº (B) BÀhº÷Úmhº
(C) ªßP»® (D) ªßÚõUQ
Which device is used to convert the chemical energy into electrical energy ?
(a) Motor (b) Alternator
(c) Cell (d) Dynamo

11. J¸ £õ]miÆ •øÚ²®, J¸ ö|PmiÆ •øÚ²® öPõsh Aø©¨¤ØS¨
ö£¯º GßÚ ?
(A) G»Um÷µõø»m (B) ö\À PÁº
(C) Gö»Um›U ö\À (D) xøn ªßP»®
What is the name of the device which has one positive terminal and one negative
terminal ?
(a) Electrolyte (b) Cell Cover
(c) Electric Cell (d) Secondary Cell

12. J¼¨£õß GzuøÚ ÁøP¨£k® ?
(A) 4 (B) 6 (C) 2 (D) 3

How many types of Horn are used ?

(a) 4 (b) 6 (c) 2 (d) 3

13. EzuµÄa ]ßÚ[PÒ G¢u ÁiÁzvÀ C¸US® ?
(A) \xµ® (B) AÖ÷Põn®
(C) Ámh® (D) •U÷Põn®
In which shape mandatory signs are drawn ?

(a) Square (b) Hexagon
(c) Circle (d) Triangle

14. £» umkU QÍma G¢u ÁõPÚ[PÎÀ £¯ß£kzu¨£kQÓx ?
(A) |õßS \UPµ ÁõPÚ[PÒ (B) BÖ \UPµ ÁõPÚ[PÒ
(C) C¸ \UPµ ÁõPÚ[PÒ (D) ‰ßÖ \UPµ ÁõPÚ[PÒ
In which type of vehicles the multiplate clutch is used ?

(a) Four wheeler (b) Six wheeler
(c) Two wheeler (d) Three wheeler

15. ÷£mh› \õºâ[ GzuøÚ ÁøP¨£k® ?
(A) 6 (B) 8 (C) 2 (D) 4

How many types of Battery charging methods are used ?

(a) 6 (b) 8 (c) 2 (d) 4
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£Sv & II /PART - II

SÔ¨¦ : H÷uÝ® £zx ÂÚõUPÐUS Âøh¯ÎUPÄ®. ÂÚõ Gs 28 &ØS
Psi¨£õP Âøh¯ÎUPÄ®.

Note : Answer any ten questions.  Question number 28 is Compulsory.

16. Tractive Effort GßÓõÀ GßÚ ?

What is Tractive Effort ?

17. QÍma ø»Û[ G¢u¨ ö£õ¸ÍõÀ ö\´¯¨£mhx ?

Which material is used for clutch lining ?

18. Q¯º£õUêß ÁøPPøÍU TÖP.

State the types of Gearbox.

19. ¤÷µUQß ÁøPPÎÀ H÷uÝ® ‰ßøÓ GÊxP.

Write any three types of Brake.

20. ÁõPÚzvÀ Q¯º£õUì G[S ö£õ¸zu¨£mi¸US® ?

Where is the gearbox located in the vehicle ?

21. Avºa] EÔg]°ß ÷Áø» ¯õx ?

What is the function of shock absorber ?

22. "möµm' & Gß£x GuøÚU SÔUS® ?

What is meant by “Tread” ?

23. "÷hõ & Cß' GßÓõÀ GßÚ ?

What is 'Toe-in' ?

24. ‘ECU’ &ß •UQ¯¨ £oPøÍU TÖP.

State the important functions of the 'ECU'.

10x3=30
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25. A®«mh›ß £¯ß ¯õx ?

What is the use of 'Ammeter' ?

26. ìhõºhº møµÆ ö©UPõÛ\zvß ÁøPPÒ CµsøhU TÖP.

Mention any two types of Starter Drive mechanism.

27. \õø» Â£zvØPõÚ •UQ¯ Põµn[PÒ ¯õøÁ ?

What are the main reasons for road accident ?

28. íõ÷»õ åõ¨m & ÂÍUP® u¸P.

Define Hollow shaft.

£Sv & III / PART - III

SÔ¨¦ : H÷uÝ® I¢x ÂÚõUPÐUS Âøh¯ÎUPÄ®. ÂÚõ Gs 35 &ØS
Psi¨£õP Âøh¯ÎUPÄ®.

Note : Answer any five questions.  Question number 35 is compulsory.

29. Bm÷hõö©õø£À ÁõPÚzvÀ Aø©UP¨£k® EhØ£õPzvß ÷uøÁPøÍ
GÊxP.

Write the requirements of Automobile Body.

30. ìhõºi[ ìÂm]ß £h® Áøµ¢x ÷Áø» ö\´²® •øÓø¯ ÂÁ›.

Explain with a neat sketch the working principle of starting switch.

31. Q¯º£õUì E¯Âk® •øÓø¯ ÂÁ›.

Explain Gearbox  lubrication  process.

32. ö\ªL¦÷Íõmi[ ›¯º BUê¼ß Aø©¨ø£¨ £h® Áøµ¢x ÂÁ›.

Draw and explain the construction of semifloating rear axle.

33. ÃÀ ]¼sh›ß Aø©¨ø£ £hzxhß ÂÍUSP.

Explain the construction of wheel cylinder with a neat sketch.

5x5=25
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34. ÁõPÚzvÀ ÂÍUSPÎß ÷uøÁPÒ I¢vøÚU SÔ¨¤kP.

Mention any five necessity of lights in a vehicle.

35. ö\ßm›¤³PÀ QÍma JßÔß £h® Áøµ¢x £õP[PøÍU SÔ.

Draw a neat sketch of centrifugal clutch and name the parts.

£Sv & IV / PART - IV

SÔ¨¦ : AøÚzx ÂÚõUPÐUS® Âøh¯ÎUPÄ®. ÷uøÁ¯õÚ Ch[PÎÀ
£h® ÁøµP.

Note : Answer all the questions.  Draw a neat diagram wherever necessary.

36. (A) ]ø»i[ö©è Q¯º£õUêß Aø©¨ø£²®, C¯[S® Âuzøu²®
£hzxhß ÂÍUSP.

AÀ»x

(B) £»umkU QÍm]ß £h® Áøµ¢x ÷Áø» ö\´²® Âuzøu ÂÁ›.

(a) Explain the construction and working of Slidingmesh Gearbox with a neat sketch.

OR

(b) Draw a neat sketch of Multiplate clutch and explain its working principle.

37. (A) Âè÷£õß ÁøP \ìö£ßéß •øÓ°ß Aø©¨ø£²®, C¯[S®
Âuzøu²® £hzxhß ÂÁ›. Auß ]Ó¨¦PøÍU TÖP.

AÀ»x

(B) uUP £h EuÂ²hß ]®¤Ò ìi¯›[ ¼[÷Pä •øÓ°ß C¯[S®
Âuzøu ÂÁ›.

(a) Describe with neat sketch the construction and working of wishbone type
suspension system.  Mention the specialities in it.

OR

(b) Explain the working principle of a simple steering linkage system with  a suitable
sketch.

- o 0 o -

2x10=20
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